20°

<R S DA

BT —

BT50 — 6. 7 H (

FREE /HRBE~NIIEE cmTER

Bl: (BT, ~JVhESOcm)

MEAmTER
RS+« JRAER (H=FHMP E&h)

H(C

Q

T

T-9KnOEKT (C=ERF)

)y —20
36 ) —20
FNSOBE (20=2-20°r37)

HHEEOER (36=36m,/min)
ERARK (A=50Hz, B=60Hz)

E-94

NETRET

(10=1kW, 3=34200V)

600

<A
Rz :

REfED :

NIVNRE ¢

m/min

IURPA)bh BE125:BX1,5X1.5

E-97-1

gR:

:=M\200,/220V, 50/60HZ

T)
(B¥0->tvF) I
9 ‘ L:1L_| L
I A
$e b :
e i) n
9 Kt:Jr—| I i e —
300 (ZhO-2) BE L =
=360 L1 L2 L3 340
1000
\ + Q‘?/\?)
3 N R T F ) ) ) ) s { e ————
e — = = < = S - a—— TV
= w11 Jasal R R B &3 ‘ Io‘ ! g
2 THI299 1A AR
MG W2 B(~JuNiE)Y | W1 | W2 | W3 = h
500 5201 620|225 232
50 BRI W 50 600 620| 720|275 250
HEL L1 L2 L3 UEH fi
1700 | 1000 I
2700 | 2000 _— —
- 3700 | 3000 -
e/ 4700 | 3000 | 1000 | ——
5700 | 3000 2000 | —— o — B
6700 | 3000 | 3000 S| Ay A1Zyk 1 BT-301
NI hG: B 7700 3000 1000 |3000 4 EPE&J:U'\ | BT-105~107
) 8700 | 3000 | 2000 |3000 3| 797y MBIy b 1 BT-108~110
PRI & 9700 | 3000 | 3000 |3000 ol 7o 0Py F1zw b | BT-103
10700 | 3000 | 1000 |2x3000=6000 1 @g-or | BT-101
11700 | 3000 | 2000 [2x3000=6000 — — E—
13700 | 3000 | 1000 [3x3000=9000 A - %1 )} Chper =
| AF- NN TURY |5y 7 MPE@ (2-20°h52
14700 | 3000 | 2000 |3x3000=9000 gai? BT NP4 ( )
. -7 IAXA3Y 1115 AR
)b StER — - —
)hﬁéﬁﬁi ACADTF—9%2BRHINBIEAIT. X T2%
NI EI=2XLm+0,20m IFIEAFT I,
E%I%Hﬁ%*i EENBES i
o @ SANKITO?{{G{;NEERJ[T}PANCOULTD BT - 21 - 01lc




